H. Geometry - Bellwork #41						Name: _______________________
										Date: _____
Matching:
1. _____ Equilateral			A. One angle measuring 90o
2. _____ Isosceles			B. All angles are less than 90o
3. _____ Scalene			C. All sides are congruent
4. _____ Right				D. One angle measuring greater than 90o
5. _____ Acute			E. No sides in the triangle are congruent
6. _____ Equiangular			F. All angles are congruent
7. _____ Obtuse			G. Two sides of the triangle are congruent

Solve for the missing variables:
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8.  								9.  				X __________
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10.  								11.
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Note: Figure not drawn to scale.

In the figure above, lines  and m are parallel,
y =20, and z = 60. What is the value of x ?

A) 120

B) 100

C) 90

D) 80
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Which of the following could be the equation of the
graph above?

A) y=x(x-2)(x+3)
B) y=x2(x—2)(x+3)
C) y=x(x+2)(x-3)
D) y=x(x+2)(x-3)




